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NEAL.... ZNE 4 i) o GROSS HDCP NET Z
W E SRS 48 42 90 30.0 | 60.0
FEMES | IR E 38 34 72 6.0 66.0
B FR H— 37 34 71 5.0 66. 0
@ (LA A K 40 43 83 17.0 66. 0
5 | KfE (B 42 39 81 14.0 67.0
6 P0| xR B 40 38 78 11.0 67.0
G (0| THE i 42 38 80 12.0 68. 0
S8 AH FFE] 46 42 88 19.0 69. 0
9 fir| B E— 37 35 74 3.0 69.0
10 0 /MEN HEZ 38 38 76 7.0 69.0
11 fif | KPg & 43 45 38 19.0 69.0
12 fif | f5f) fibiE 36 40 76 7.0 69. 0
13 {if K 42 35 T 7.0 70.0
14 fif \EX BF 43 37 80 10. 0 70.0
15 fir | &)1l 2 46 40 86 16.0 70.0
16 {if | THE & 42 38 80 10.0 70.0
17 {f | WE5F B 45 44 89 19.0 70.0
18 {if | #ABH Fnsh 40 43 83 13.0 70.0
19 {7 | HE EAI 40 43 83 13.0 70.0
20 {7 |[EAR #E 41 42 83 12.0 71.0
21 i | FEF IEM 41 42 83 12.0 71.0
22 fif | &S EX 44 46 90 19.0 71.0
23 {if | fegk FF 41 43 84 13.0 71.0
24 {if | & 48 40 88 16.0 72.0
25 fif | Al R i 40 38 78 6.0 72.0
26 {ir { XM 1EF0 48 47 95 23.0 72.0
27 i | AR FFE 38 39 77 5.0 72.0
28 fif | fex A EfE 39 43 82 10. 0 72.0
29 {if | Ik T 45 40 85 12.0 73.0
30 7 | Ml B4 44 42 86 13.0 73.0
31 fif | i FEE 48 51 99 26.0 73.0
32 4 | R ZR§ 44 47 91 18. 0 73.0
33 fif | FE EH 46 36 82 8.0 74.0
34 fL | TE 8¢ 46 46 92 18.0 74.0
35 fif | /{IF fuA 50 50 100 26.0 74. 0
36 ic | =[F %58 48 41 89 14.0 75.0
37 fir | & 45 43 88 13.0 75.0
38 i | M EifEF 41 40 81 6.0 75.0
39 4L | FHF fik 43 42 85 10.0 75.0
40 {r | B Fi% 47 46 93 18. 0 75.0
41 {if |l —FK 49 49 98 23.0 75.0
42 L AR K 45 49 94 19.0 75.0
43 {ir | =4t 1% 47 43 90 14.0 76.0
44 {if | FHF 0K 42 43 85 9.0 76.0
45 fif xR K= 44 47 91 15. 0 76.0
46 {7 | FEO #I 43 47 90 14.0 76.0
47 fiL {/hr 0 S 42 46 88 12.0 76.0
48 fif | s —EBf 40 45 85 9.0 76.0
49 fir |BE BH— 46 44 90 13.0 77.0
50 i |[EAX EEZE 41 45 86 9.0 77.0
51 {f | K% EHE 39 45 84 7.0 77.0
52 {r K % 45 46 91 13.0 78.0
53 {i | JfIRf FnB 43 45 88 10.0 78.0
54 {if | |LIGF {#5E 48 49 97 18.0 79.0
55 {if | KT B 40 43 83 4.0 79.0
56 i | HHPN F|AE 46 45 91 11.0 80.0
57 i | Ay $THE 53 56 109 7290 87.0
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(& AL A 42 44 86 26.0 60. 0
%@; | Atk A 42 38 80 16.0 64.0
3 {0 Fhs $h 44 44 88 24.0 64.0
REE 36 42 78 14.0 | 64.0
b _[p | BIg B 50 53 103 38.0 65.0
©® {0 | i 15 40 45 85 19.0 66.0
700 PR RE 49 38 87 20. 0 67.0
8 | AT MR 44 40 84 17.0 67.0
9 {r | HHE ®E 41 41 82 15.0 67.0
10 fr | PH kL 40 40 80 13.0 67.0
11 i | HEE =15 43 43 86 19.0 67.0
12 7 | &l Fes 41 42 83 16. 0 67.0
13 fif | ik &L 37 39 76 9.0 67.0
14 7 | EH FE 45 41 36 18. 0 68. 0
15 {7 | Tk ER 42 42 84 16.0 68.0
16 {if | KA 39 39 78 10. 0 68.0
17 {if | fl8k F) 5% 40 41 81 13.0 68. 0
18 fir | xR AHE 46 49 95 27.0 68.0
19 fif |/ BE 45 39 84 15.0 69.0
20 fi | IEME —FK 45 47 92 23.0 69. 0
21 fir | #F IEE 45 51 96 27.0 69.0
22 {ir | EEFE SLE 45 36 81 11.0 70.0
23 fir | s B=FHR 42 38 80 10.0 70.0
24 fir ki BRI 43 44 BT 16.0 71.0
25 if {flik B2 43 47 90 19. 0 71,0
26 fir | Tkt B 39 44 83 12.0 71.0
27 fir | %47 Foig 51 44 95 23.0 72.0
28 fir | AL EiR 42 42 84 12.0 72.0
29 fr | B ———= 40 41 81 9.0 72.0
30 fir | AfR &S 46 42 88 15. 0 73. 0
31 fir | EE fopg 42 41 83 10.0 73.0
32 0L | /R el 48 50 98 25. 0 73.0
33 fir [{fiKk BE 44 41 85 11.0 74,0
34 4z | I ELE 42 46 88 14.0 74.0
35 fir | Frid SEIR 47 44 91 16.0 75.0
36 {iL | PR FnjEg 45 53 98 23.0 75.0
37 L | FF BRIKER 48 42 90 14.0 76. 0
38 fir | Bt 7% 44 42 86 10.0 76.0
39 fif |Ban HHE 48 51 99 23.0 76.0
40 fL = F BF— 42 46 88 12.0 76.0
41 {if | 518k B 43 47 90 14. 0 76. 0
42 fif | B Ff 44 48 92 15. 0 77.0
43 { |#BIR 1Bt 46 46 92 14.0 78.0
44 i | IR WEE 47 53 100 22.0 78.0
KA HEI 45 50 95 0.0 95.0
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6 {0 | HR — 45 | 51 96 | 28.0 | 68.0

a ) E0 F5 39 | 42 81| 12.0 | 69.0

8 fr | HHE & 49 | 53 102 | 33.0 | 69.0

9 iz \WEMH EKE 44 39 83| 13.0| 70.0

10 iz (%88 7% 38 41 791 9.0 70.0

11 {7 | 7N 44 | 47 91 | 20.0 | 71.0

12 fi7 | TiE &= 50 | 47 97 | 25.0  72.0

13 A2 | HFf KB 45 43 88 | 16.0 | 72.0

14 fiz |[fEH IEIR 40 42 82 10.0 | 72.0

15 fiz | B/ FREL 42 44 86 | 14.0 | 72.0

16 fif | KH & 42 47 89| 17.0 | 72.0

17 iz |A+ BE 38 49 87 | 15.0 | 72.0

18 7 | ey Il 43 43 86 | 13.0 | 73.0

19 47 | EF@E 15 43 44 87 | 14.0| 73.0

20 fif |FEH FER 45 47 92 | 19.0 | 73.0

21 iz |FIER 1B 46 49 95 | 22.0| 73.0

22 L |4MEE RAT 47 44 91 | 17.0 | 74.0

23 fir |\ Fif 46 | 48 94 | 19.0 | 75.0

24 L TR BREER 44 46 90 | 15.0 | 75.0

25 fif | AR E— 47 51 98 | 23.0 | 75.0
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